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YU - 3 / SECTION - A

TS vy Objective Type Questions

Ty WEr 19 100W%m%mwﬁmﬁqw§ﬁfﬁ#wwﬁ?f

- 50wyl & '
fargt WWWWWW%WWOMWW%@HH
gl
50x1 =50
Question Nos. 1 to 100 have four options
Answer any 50 questions. You have to m
OMR-Sheet.

out of which only one i§%orrect.
ark your selected aption on the

S50 x 1 =50 i

1. F=fefen 1 feg .. Aoz G677
feemd =r5ve & s 5 w6 -3 3 o Bz GHA=AS
(AL,  x%+2x-15 B) x2-2x+15

2
(C) x*-2x-i5 (D)o X% - 8x-15

Which of the following quadratic polynomials has zeroes 5 and

=1
A)  x%+2x-15 (B) x2-2x+15
(C) x%-2x-15 (D) x%-8x-15

8]

afe 98YG pl#) =x? - 9x+8 ¥ I=F o W § 7 A %(mmwm%

(A) 4 B) 9
C) 4 B -9

If @ and B are the zeroes of the polynomial p(x) =x% - 9x+8 then

the value of %[u-f—[i) is

(A) -4 B) 9
(C) 4 D)y -9
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[210] | E

ST B @l WTTEE i
afe p(x) —x?-5x+6 @l q(x)=x2—2 @ fen

A

uTd @
2
@A), 2 (B)
c) 4 (D) O i
d e of
If p(x) — x4 _5x+6 is divided by q(x)=)_52—2 then the degre
" the quotient is C}&lic %]L

A) 2 B) 3 % 1 ,?_
© 4 D 5 °

4. 2x-3y+1=0, 3x+y+2=0 ¥ fpad &1 B 2
al b Q L b
(A)e TH B (B) IS & TE

7!
() 3T & (D) ¥ @ IS T
, ) »

How many solutiong will 2x-3y+1=0, 3x +y+2=0 have
(A) One selution
(B) «No solution
(C) Infinitely many solutions
(D) None of these

5 ammﬁ%ﬁ@ﬁﬂﬁuﬁﬁ@ﬁaﬁﬁmﬁmﬂ#ﬂ?
(A) 2 EB) 1
() FmfwEE (D) ¥ U I T o
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Il the graphs of two linear equations interscct, what will be the

number of solutions ?

A). 2 B) 1
(C) infinitely many (D) none of these ak . B
6. %ﬁaman“mwamix 3i;+10 orlﬁrqzlx zi+9 0 2 jL# f;
: s . = =
@), fh ®) fdsh ESIARS
IE2

. T
(S (D) 7 & i A
The pair of linear equations 6x-3y+10=0 and 2x-y+9=0 is

(A)  consistent (B) inconsistent

(C) dependent (D) none of these

7. A TEETd FHIROl 222 4+2-6=0 % T « W B A o2 +p2 T AA

- 25 4

@) == B) 3=
25 ' 23

€ = D) ==

If o ‘and B are the roots of the quadratic equation 2z2+z-6=0

then the value of a? +p2is

~B5 4
A —
) =22 I
25 ' 23
(C) -5 (D) i
| A/SS/11045 Page 5 of 44
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a1 4l p 1A
8) e fama wlter 2x% ¢ px-3=0 1 U el - 3,,_5." #
ALY RAD-B O ey
a) 3 X 32 ) 4
\ yG e
C) 5 aQ-\e o 5D 6
' %
3 then the

; : 2 B ) B
Il one root of the quadratic equation 2x~ + pXx 3=0 18

value of pis
(A) 3 (B) 4

(€) S5 (D) 6
o. afe fyEma @ 2x2 ~5x -3=0 1 T T %%Fﬁsaaﬂmqa%
(A) -3 (B) 3

(C) (D) 2

1

2
| N

If one root of the qadratic equation 2x%-5x-3=0 is - then its

another root is

A - B) 3 _
Sy
O 5 (D) 2 Dﬂ_,uxu%o
2 - — 7
| - /é z = &
10, feem g 4x)2—1,=0ﬁ»‘at§ﬁﬁsq:ﬁlw‘%?
(A)  arifes T 3TEHT (B) Tl U UM
(C) o aTffereh e (D) T A wE A
A/SS/11045 Page b OI'Z‘I
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What is the nature of the roots of the quadratic equation

4x% -1=0 rd
37
(A)  Real and unequal (B)  Real and equal
(C)  Not real ' (D) None of these
11. aﬁﬁ%mﬁwmzz:mﬁ%ﬁm&qﬁ%ﬂqﬁi'wm%
A) 3:5 B) 9:36
(C) 216:27 (D) 36:9

The ratio of the volumes of two spheres is 27 : 216 ; then the ratio
of their surface areas is

(A) 3:5 (B) 9:36
(€ 216:27 (D) 36:9
12. @ oMl Hi Bl w1 a2 : 3 2 @ I Surdl w1 eETE 5 3 @
Al 35 AT BT I BT
(A) 20:27 B) 4:9
(C) 27:20 (D) 9:4
The radii of two cylinders are in the ratio 2 : 3 and their heights are

in the ratio §%3. Then the ratio of their volumes is

(A)  20:27 ' B) 4:9
(CNC27 : 20 .{D) 9:4
13. ufe foreft Som & mur ) Bowr r 2 @ 3EF F9E A R A SeW w0
A R
(A)  wrh (B) nrlh
(C)e nrh? (D) 2nr’h
@88/11045 _ | Page 7 of 44
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If the radius of the base of a cylinder is r and its height is h thep

the volume of the-cylinder is

(A) =wrh B) nr’h
(C) nmrh? (D) 2nrh

14, R R g ¥ w9 w1 dewd 176 2 2 aiv e 7 0 2 A s
(A) 4wd (B) 6%l
() 87 | (D) 10 &
If the curved surface area of a cone is 176 cmZand its radius is
7 cm, then its slant height is
(A)  4cm ‘ (B) 6cm
(C) 8cm (D) 10 cm

15, af RediNE % Rl 1 el 643 A 2 o B B T B
(A). > 4 T (B) 6@
(C) 6+/3 T (D) 243 &
If the length of the diagonal of a cube.is 643 cm then its length of
the edge is
(A) 4cm B) 6cm
(C) 643 cm (D)  2V3 cm

A/SS/11045 Page 8 of 44
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16. 5in 33°. o8 57° + sin 570 oo ga0 - |220]
L (B) 1
€ -1 o) L
_ 2
17, aﬁwﬁﬁ@%mwmsosﬁmQ %?ﬁamﬁrﬁ—m%
(A) 35 aH B) 73
(©) 14 % D) 213
If the curved surface area of a hemisphere is 308 cmZthen its
radius is
(A)  3Scm (B) 7 cm
(C) 14 cm (D) 21 cm
18. 3t el et i s 2 70 B el 2 ) swe st B STom
(a) 27w (B) 4T
(C) 16T (D) 87
If the radius™ef a sphere becomes 2 times then its volume will
becon'ie' .
(A) 2- times (B) 4 times
(C) 16 times (D) 8 times
5. gfe sin0+sin®0=1 & @ cos? 0+cos? 0 I 4 2
A -1 EB) 1
(C) O (D) 2
[ A/SS/11045 ~ Page 9 of 44
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If sin0+sin20=1 then the value of t:os2 0+cos4 0 is

A) -1 B) 1
(C) 0 (D) 2
20 tan 0 tan0 _
" sec0-1 secO0+1
(A) 2tan0 (B) 2seco
(C) 2 cosecO (D) 2tan0OsecO
21. 3R frelt g A 1 6 31 ug 30 v T 3iar 5 F A1 IGHT VT UG I
: — LD
a7 @k%i{}w
AXOTP Z o
A) 2 a X" 8], 3
CL:; FSDF .
C) S . (D) -5
If the 6th term of an A.P. is'30 and common difference is 5 then
what will be its first term ?
(A) 2 (B) 3
€ S (D) -5
22, Topdfl @R 3 F i HUPTA 98 Sx + 3, 8x 3T 9x + 3 & Al x T AF B
@A) 1 (B) 2
€ 3 (D) 4
Three successive terms of an A.P. are 5x + 3, 8x and 9x + 3 then
the value of xis
(A) 1 (B 2
(€) 3 (D) 4
A/SS/11045 Page 10 of 44
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03, FIEICEd H 1 g 3 8 »
@A) 1,3,9,27, .. B) @, 2q, 34, 4q, ...

»

2
(©), aa’a’at,.. @) 12,2232 ..

Which of the following is an arithmetic progression ?

(A) 1, 3, 9, 27, ... (B) a, 24, 3a,4a, ...
B aefa® et 1) S - i oM.
4. Trafafed & wF wwie 3 a€i @ 7 N
. ey "
(A) X, 2%, 3% 4%, ... B) 2,4,6,8889, ...
2
€, 1 B T, (D) 7,1&2%, 28, ...

Which of the following is not an arithmetic progression ?

(A)  x, 2x, 3x, 4x, ... (B) 2,4,6,8,10,...
@ 135587 (D) 7, 14, 21, 28, ...

25. UUH n WIhd {99 BEEIH B ATHA 3
G il : \,(B]/n2
(C) s °n3 (D) %n

2

The sum of the first n odd natural numbers is

A) n B n’
© n° (D) §n2
[ A/SS/11045 " Page 11 of 44
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(210 |
Srfefiga o fhaet AT 1 % aUet B ?

(A), sin? 45 + cos? 45 (B) sin0O xcosO

1

sin 30° x -
cos 30

(C) cos? 60° (D)

Which of the following values is equal to 17?

(A)  sin?45 +cos?45 (B) sinO xcosQ
| 4 1
260 D sin30 x S
G e & cos 30
27. (1+tan?0)sin?0=
| $ T2 S
(A) . cos®® B) cot20
(C) tan®0 D)  sec20
n‘_' . \
28. tan4§ = (/) )fy |
w3 B) .
J3
L S
1 b S 00
(©) . 1 o L UEN
29, sec 60°= f{y‘}l__ WL r~ \
& (B) 2
© V2 oy L
J2
LA/SS/11045
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30. sinZ 30° — cos? G =
(A 1 B) -1
©), o | D) 2
31. WW%P#@WPA@PB%MW@%HH@%H&
PA =79 8 a1 PB= |
(A), 7 & (B) 14 &
(C) 3-53Ff (D) 15 &
From an external point P, twé tangents PA and PB are drawn on a
circle. If PA =7 cm then PB =
(A) 7 cm (B) = 14 cm
(C) 3-5cm (D) 15 cm
32. Afe pAvwa pB TRl @ fag PH &% 0 9 99 W @i ¥ =yl @i @
g LAPB = 100241 £POA =
(A) +7E0° (B) 40°
©) s0° (D) 60°
If PA and PB are tangents drawn from an external point P to a
circle with centre at O and ZAPB = 100° then £ZPOA =
(A) 30° (B) 40°
(C) S0° (D) 60°
[A/SS/11045 “Page 13 of 44
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| .
33 aft S AB R ¥ ¥ W 50° F W i@ @ A A I B g
q i S el Ya@rei % i R
(A) 30° (B) 130°
() 90° (D)  60°
If a chord AB subtends an angle 50° at the centre of a circle then
the angle between the tangents drawn on points A and B is
(A)  30° (B) 130°
(C) 90° (D) 60°
34. Q1 g hi BremaTi 1 UM 5 : 7 R A I AAGel 1 I &
A) S:7 ' B) %S
(C) 49:25 (D), 25:49
The ratio of the radii of two circles is 5 : 7 ; then the ratio of their
areas is .
Ay 827 B) T:5
(C) 49:25 (D) 25:49 |
35. 14 @l B St g9 % 36 Prowmve Rew S 10 30° 2, w1 Swd
(A) > 50-33 A2 (B) 51-33 &2
(©) 5233 ¥l (D) 61-33 A2
The area of the sector of a circle of radius 14 cm and central angle
30° is
(A)  50-33 cm? B) 51-33 cm?
(€} S52-:33 cm 2 (D) 6133 cm2
A B
A/SS/11045 Page 14 of 44
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36. é‘faﬁ?ﬁqﬁfiﬁiwmzzsaaﬁmﬁﬁmﬁwaﬁm%

&) 32 (B), 2:3

(C) 4:9 (D) 9:4

The ratio of the circumferences of two circles is 2 : 3 then the ratio

of their radii is

(A 3:2 (B) 2:3

C) 4:9 (D) 9:4
@1y 6sec’ A-6tan? A= . ﬁ "

(A) 36 (B) 6

(C) 12 UBT 0

38. dAfc a=xcosd 3N bfy'sin6 @ y?a? +x%b% =

l (A)  xy - (B)  x?y?
(&% 257 D) x%+y?
If a=xcosb anld b=y sin0 then y2%a®+x%b? =
| & xy B) x*y?
| € x*y D) x?+ y?
i A/SS5/11045 | Page 15 of 44
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e MR ¥ S ol I HI0 IEH 9 H 15 w1 gt T 60° B, dl HHw

39.
&1 =8 R
(A) 20 (B) 25/3%
C) 1543 (D) 154
The angle of elevation of the top of a tower at a distance of 15 m
from its base is 60°. Then the height of the tower is
(A) 20m - (B) 25v/3m
(C) 153m (D) 15m
40. UH WY 6 TET H A9 Wy H FAE A V3 T 2| gF T IWA ST 2
(A) 30° (B) 45°
(C) 60° (D) 90°
The length of the shadow of a pillar is J3 times the height of the
pillar. The angle of elevation of the sun is
(&) 30° (B) 45°
(C) 60° (D) 90°
41. P xoy fomsk ofid X (0,4), 0(0,0)aU Y (3,0)7, 5 855 2
(A) 12 =t 518 (B) 6« 3eRrS
(C) 8 ¥ (D) ¥ & WIS
A/SS/11045
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'he arca of triangle XOY with vertices X (0, 4 ), O (0, 0 ) and
Y(3,0)is

(A) 12 square unit (B) 6 square unit
(C) 8 square unit (D)  none of these
4g® tan 40° . tan 20° , tan 50° . tan 70° = =)
1
I| (Ay O 2B) 1
(C) . V3 (D) %
43, Afe 1 wued Frgell % dewe @ orEE 49 : 81 8,8 SH FE s
I B
J: A) 9:7 \;/(]‘3)‘ 7.9 ’
(€ 7:8 (D) 8:9
If the ratio of the ateas of two similar triangles is 49 : 81 then the
| ratio of their corresponding sides is
(A) 92K B) 7:9
. (C)NF7 : 8 (D) 8:9
i 44. 2 woeq Pl & @Ehel S I 121 : 169 @ 1 ITH W Hurgdl H
I 2
| (A) 13:12 (B) 12:13
| (C) 11:12 (D), 11:13
‘ @3/11045 Page 17 of 44
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If the ratio of the areas of two similar triangles 1s 121 : 169 thep

the ratio of their corresponding altitudes 18

(A) 13:12 B) 12:13
[© Llel2 ) 11%18
45, awwﬁgﬁaﬁmwi?:ll%wmﬁélﬁgﬁi%&mﬁ- &l
Fqurd foan gm 2
A) © 11:7 (B) 49 : 81
(C) 49:121 (D) 14:33
The corresponding sides of two similar triangles are in the ratio
7 - 11. What will be the ratio of the-areas of the triangles ?
A) 11:7 B 4981
(C) 49:121 (D) 14 :33
46. AR AABC ~ADEEMAB = 3 DE Ud AABC 1 &5%el 54 Ffi2 B/, @
ADEF &1 83t g
(Ap w15 afi 2 (B) 10 @2
(C) 6@m? (D) 18 &2
If AABC ~ADEF, AB =3 DE and the area of AABC is 54 cm?, then
the area of ADEF will be
() 15cm? (B) 10 cm?
(C) 6cm? (D) 18 cm? B
A/SS/11045 Page 18 of 44
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47.

48.

49,

(210 |
afé AABCH AC? = AB? + BC2d) /B T 3

(A)  60° (B) 75°
(C) 90° (D) 45°
If in AABC, AC? = AB? + BC? then the value of /13 is

(A)  60° (B) 75°
(C) 90° (D)  45°

AABC ~ ADEF R d fr=fafiga & a9 aea 2 2

AB _AC AB _ BC
A DE=EF B EFTDE
AB _ BC AB _BC
(€) DE ~ EF (D) DF  DE

AABC ~ ADEF ; then which of the following is true ?

AB _ AC AB _ BC
(A DE EER (B) EF DE
ABNBC a8 B0
©) BB~ EF D) PF=DE

" PQ_QR_RP " _ o
APOR Td AXYZ 39 YR & & e =y T 2P = B,

Z0=80°, @ £Z® AT 8
(A) 20° (B) 30°

(C) 40° (D) 60°

' 1: | A/SS/11045 | Page 19 of 44
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1
I').]f.)i

PC OR RP N
APOR and AXYZ arc such that -}-{—5')7 A and ZP = 60

Z0Q = 80° then the measure of 2218
(A)  20° (B)  30°
(C] 4()" ”)} 'E)U”

50.  fered amen fore A g wt fererfl wast tand i+l s oAl 7 2

(A) 1 (B). 2
C) 3 (D) Al
How many tangents can be drawn to a circle from an external
point ?
(A) 1 B) 2
C) 3 (D)  Infinitely many
51. p % foa wm & f@ofiam admor px? —2x+3 =0 asr@amﬁzﬁqa
HYH R ?
A ¢5 B
(I D) 3
5 2

For what value of p, roots of the quadratic

equation
px? —2x+3 =0are real and equal ?

1 1
A = 1
(A) 3 (B) 5
]
© =z (D) %
L A/SS/11045 |
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s [ E"rt'{ X 55y 2 .. - = : ' 3
50. dfd 9EYC p(x) @l v WD - 4w, A frafafaa § @9 px) w1 0

UAEYE Bl P
(A, x+49. B) x-4
€ e D)  x-5

If one of the zeros of the polynomial P(x) is = 4 then which of the

following is a factor of plx) ?

(A)  x+4 B x-4 & =
[CJ xX— 2 (D] x-5
33, TR AEIG x® 4 3x~4 F YH F1 R B

(A) 4 (B) 3
€ -4 (D) -3

The product of zeros of the quadratie polynomial x2 +3x -4 is
(A) 4 B) 3
< -4 D) -3

54. Taefefad d | =9 fglme a2 2

(A)  x*-@¥x+3=04 B) 2x2—3x=(x+1)2
(C), qx9+2=(3—x}2+4 (D) xQu_1_2=4x )

4. c s X
(v X ; -_3\-“}
LR

Which of the following is a quadratic equation ?

(A)  x? -2Jx+3=0 (B) 2x%-3x=(x+1)?
(C) x%2+2=(3-x)*+4 (D) x2 _L2=4
X

A/SS/11045 Page 21 of 44
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C

55. ﬁmﬁfﬁaﬁﬁﬁaﬂﬂﬁtﬂmmﬁ%?

A)  (x+2)3=x(x*-1) B) (x+1)*=2(x-3)

2 1 _
€ x?-2x+1=2x"+4 (D) x+?—2

Which of the following is not a quadratic equation ?
B)  (x+2)3=x(x?-1) B) (x+1)%2=2(x=3)

€ x?-2x+1=2x?+4 (D) x*+—5 =2

.
7

56. feam afiew 2x2 —4x +3=0 1 o= 2.

240 ~-Y45 43
2
C) -8 (D) 8

The discriminant of the quadratic equation 2x2 -4x+3=0 is
N -4 (B) O
) -8 (D) 8

57. fFrafafea 4 ®F fag x= 5% v@fm we »

(A), (50) B) (5,2)
& (s8] (O) T A wh
A/SS/ 1_104h5 | Page 22 of 4
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.

ﬂ | Q]Q_I
which of the following points lies on the graph of x =57
A (5,0) B) (5,2)
c) (5 3) (D)  All of these

58. afg P+ 1,3P+ 1,6P- 1 4t A1 8 & &) p &1 Wi 2
A 1 B) 2
c) 3 (D) 4

ifP+1,3P+1,6P-1 arein A.P. then the value of Pi§

(a) -1 (B) 2
C) 3 (D) - 4
: ey, O
59, T A 3, 3+v2, 3+2V2, 3+3J2 H Gd HHA B E
& %r\s.l -*g
a) 3 (B) 3++42 .

© V3 D) o V2
The common difference of arithmetic progression 3, 3+4/2,

3+ 2/ AAM3Y2 is

A) 73 (B) 3+42 |
©c) V3 D) V2
am ,
60. moiew A 21, 18, 15, ... B PHA-H T LA @ ? .
s m’\l)
@ 6 B 7 O
© sdf CEL
: @Sjl 1045 Page 23 of 44 _
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[ 21,
is 0 ?
Which tefm of the A.P, 21, 18, 15,... 1
th
(A) 6th B 7
(C) 8th (D) 9th
61. @i siaueli 3-7,7-11, 11 - 15, ... % @il i oETs 2
(A) 2 (B) 3
(C) 4 (D) S5
The length of the classes of the class intervals,
8-7,7-11, 11 - 15, ...iis
(A) 2 ’ (B) 3
C) 4 (D) 5
: » 79,7, /0
62. SUH 10 HH Widd HENH| 1 HIA 2 ,3,9,5.5%
A) 110 S\ B) 11
(A) O (B) e
c) 10 D) 100
The mean offirst 10 even natural numbers is %Gc,) L &
| %
A 1 R
(A) 429 B) 11 @
(C) 510 (D) 100
: ( 2.\y, 1L e
63437, 3, 5, 8,6, 10, 9, 12 %! HIfExHI FT 2 ? w\»’ b V't
12,0 ,10,\1 io £
@A) 8 258U 5 30
€ 75 (D) 7
What is the median of 7, 3, 5, 8, 6, 10, G, 12
(A) 8 B 6
) 75 D) 7
, AfS5(11045 _ Page 24 of 44
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E 8,9,7,8,3,9,5, 8 Tger 2 | 218
() 3 B) 7
c) 8, (D) 5

Thc mOdC 0f8; 9‘ 71 8: 3: g: 5: 8 iS

(A 3 B) 7

Cc) 8 (D)

)]

g5, I P(E)=0-057 P(E') wwe 3
(A), 005 (B) 095
(C) 094 (D)  0-97
If P(E)=0-05 then P(E') is equal to
(A) 0-05 (B) 095
(C) 094 (D) 097

66, TofefEd § ¥ SH-ghaE el ger 6 wihwdar 781 & dehdl 8 ?

A) 07 (B), 25

-
(C) £75% D) 3

Which of the following numbers is not the probability of any

event ?

A) 07 (B) 25
4

)  75% D 35

| Page 25 of 44
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ch | 219
J 7ot @ A T 52 ) T ) A § Ag T I E
SIS T ¥ TCE B I TRl 1 8 ?
1 1
A 15 JB 26
© 2 D 15

A card is drawn at random from a well-shuffled deck of 52 card;

What is the probability of getting a black king ?

1 1
W13 - B 3
2 | 4
© 35 SN ]

68. Q%Hﬁﬁ@nﬁmﬁﬁm?ﬂm%lmmémqﬁﬂ%ﬁﬁﬁmﬁm'

3
@ 2 ® =
1
0 & 1
© % o 3

A month is'selected at random in a year. The probability of it bein
March or July is

- 2 CI
© = o 3

69. UH T Hl ¥ H WA 1 a1 5 3 Y Wl 2

a 1 1
2 B) 3
1 “ 8 s
(C) 3 (D) %9 ¥ &I 7
LA/SS/11045 Page 26 of 44
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. 1210 |
a The probability of getting a number 1 or 5 in throwing a dic is
1
=y 1
B =
[A] 2 ( ) z
1
© % (D) None of these
0. o T 1 Th W 1 2 3 6 % i w3t wiw A1 B il 2
i
| 1 25
A0 ®) , - =
2 BRS TR
1
© 3 (D) 1
The probability of getting a digit between 2 and 6 in throwing a dic
once 18
1
(A) O B 3
© = (D) 1
3
7. A 0(0,0)qe frg @ 3 fag P fidurie (3, 4) @i @l gl OP
| \ X
A) S (B) 7 Wv
as
(C) 10 (D) 12
!: If O (0, 0) be thé origin and the co-ordinates of the point P be
;‘ (3, 4 ) then thewdistance OP is
: A) & B) 7
() 10 (D) 12
2. y-awd fag (7, 12 )6 gl 2
A 7 (B). 12
€ 19 (D) 5
D\\ISS/ 11045 Page 27 of 44
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(A) 7 B) 12
c) 19 (D) 5
(A) sec0-tan @ (B), cos - sin®
(C) cosec 0 —cot 0 (D) tan0- coto(b((\
74. famg (7,10)F Ffe 2 ' s
B 7 (B), 10
@ -7 (D) - 10
The ordinate of the point( 7, 10} is.
w7 | &é | (B) 10
© KO D) -10
75. @g}mmﬁ@m% ?
.
%}q g . B) T

. y-axis is
The distance of the point (7, 12)) from the Yy

) dm (D) =g
In which quadrant does the point (1, 5) lie ?
(A)  First (B) Second

(€ “Third (D) Fourth

et

A/SS/11045
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r T o T

_, ‘ (210 |
‘ﬂ prafef 8 F-a1 R e ety  fom 2
A (47) B) (5,-9)
€l o (=9=%) D) (-4,7)
which of the following points lies in the third quadrant ?
A (4,7) (B) (5,-9)
i T~ by~—%) D) (-4,7)
" fagafl (3, -3) 3 (- 3, 3 ) F P wEr 5 79, 85 +
®  (3,3) ®) . (0,0) 2221 %
© (0,-3) D) (-3,0)

The co-ordinates of the mid-point of the line segment joining the

points (3,-3)and (-3, 3) are

(A)  (3,3) B) (0,0)
(C) (0,-3) (D) (-3,0)
78.  1@REVS AB mqwﬁﬁm,e)%aﬂna%ﬁm_(z,c;)%aﬁ B
Ay (—%,6) (B) (4,6)
(C) (6,4) (D) (6,8)

The mid-point of the line segment AB is ( 4, 6 ) and the

co-ordinates of A are (2, 4 ) ; then the co-ordinates of point B are

(A) (-4,6) (B) (4,6)
(C) (6,4) (D) (6,8)
| A/SS/11045 : _ Page 29 of 44
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- (21
7,3) A T H 3, )

3

C . =
79-. Mqﬁ%w%fﬁﬁ%ﬁéﬁ(&”m(

g @ (£
5,5
(A (2.5) ® (5°3) 3
C (-2,5) D) (2,-5)
The co-ordinates of the ends of a diameter of a circle are ( 3, 7 W a
and (- 7, 3 ). Then the co-ordinates of its centre are :
(A (2,5) B) (5,5)
(£
(C) (-2,5) - D) (2,-5)
: > (¢
80. af: faredt Finge et % Fdwi® (<1, 0), (5,-2) 7 (8, 2) A A fpf
¥ F2H % oW § ﬁ%—@;ﬂ oHADT If
n
F , 0 . 4,0
(A) (0, 4) =5 (B) , | ) p
€) (0,-4) (D) (6,0)
The co-ordinates of the vertices of a triangle are (-1, 0 ), ( 5, -2 (£
.and ( 8, 2 ). THen the co-ordinates of the centroid of the triangle ar (E
(Aa) _ (0.4) (B) (4,0) (¢
@ (0,-4) D) (6.0) i
81. fr=afefes 4 sF-a1 fa %1 cymes war @id gm ? e W
o
15 -l 19
(A} 1600, °\ ke & (B) 310
3 L JL&‘G
© 35 e o = 8P
e
il

| A/SS/11045
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| |
'g (210 ]

Which of the following fractions has

terminating decimal
ii expansion ? '

.{ 15 19
| A Te0o B 335
f

’ 3 8

] (C) 38 (D) o

_ @ ae p, 3" T H B I g, 67 x5™ FY F AUl m, n I3 FHIAL gurieh 2 dl

ﬁa%wmﬁam%mﬁm?

(A) , 3T9Td 3T (B) &M@

[

(C) 3= I (D) 39H | g 7d

If p be the form of 3" and g be the form of 6" x5™ and m, n be
non-negative integers then how will be the decimal expansion of

the fraction 2 ?

q
oY)
(A)  non-terminatingrepeating ,gﬁ(—z
(L%% .
(B) term{nating X /.—,;3__‘
. ”'fﬁf L L
(C) non-terminating non-repeating ks \ 6
| (D) +none of these b= s L

' 83.  Ffe W UFI®Ha=bg+r § b=73, g=34 3 r=238 a4 a F 99

| ERR =03t
(A) 2500 B), 2505 @7 AUV
1 (C) 3505 (D) 3510
|
|A/SS/11045 ] Page 31 of 44
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| [ 210]
b=~'73vq;34andr=23'mﬁn
If in division algorithm @=bd*7
what is the value of a ?
(A) 2500 B) 2505
(C) 3505 - o) 3510

84.® TgIR x2 — 11x — 42 F YIS ¢ |
‘(B) =53.14

(A) 3,14
- € =4 -4 D) 2,14
r\@ The zeroes of the polynomial x2 -11x-42 are .
(A) 3,14 : B) -3,14
€ -3,-14 (D) N, 14

85.©Q T (x°+ x* +x2+7) (x* +x° + 4) F =@ 2
(A) 5 . B) 7
C. 9 - (D) 10
The degree of the polynomial (x5 +x* +x2+7) (x* +x3 +4) is
(Al NP | : B) 7 |
€ o9 . (D) 10
86. frfeiaa & i ¥gug & ?

a) x2+1 M+.§
X . X

€ x?+2Jx+3 [9—‘ x? +4x+4

| A/SS/11045%
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| (210 ]
Which of the following is a polynomial ?

2.1
(A) X +; x+3
x 2

(C) x2+2\f;+3 Dy X% +4x +4 ’q*s‘,\“’ A

. GL*"B Q—+\\3 %
87. ﬁm%@aqﬁﬁﬁﬂlﬁa@%%vﬁqzﬁ_zﬁlo%? a &’
(A)  x2+8x+20 L (B)* x?-8x-20
(C)  x2-8x+20 x% +8x-20
Which of the following quadratic polynomials h#f's™ zeroes
-2and 10 ?
(A)  x?+8x+20 (B x%-8x-20
(C) x2-8x+20 x2 +8x%20
88. IR TEH p(x)=3x2= x-4 % I=F o 05 B & dl 3up H TH 2
(A) 4 (B) " -4
=4 i
© = (/I
If « and p are the Zcroes of the polynomial p(x)=3x%-x-4 then
the value of 3afis
A 4
-4
S5
39. sin45° + cos45°=
1
(B). = B) 2
)
(C) ‘E ED) 1
2 3
A/SS/11045 Page 33 of 44
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21 A1 k&1 J11 7
90. Hfaﬁ,'maagqakx2+3x+kﬂﬁw2‘
-5
S (B) —&
(A) e 6
-6
<] D) =
© 3 ( 5

If one zero of the quadratic polynornial

value of kis &

5 -5 :
@ = ~(B) 6 9
6 -6
€ < - (D) 5
91. tan(90 -x) =
(A) cosx (B) sinx
(C)O cot x é (D) secx
y2. dfeg u:ﬁo"m&so“z‘mﬁ sin(a—B) F1TF & '
(o730

e |
(A) é(o ®, 5
X .
&

If u = 60 and B=30 then the value of sin(a—B) is

™

(D) 1

o]

1 | L

(A) 72 (B) 5

() § @) 1
A/SS/11045 Page 34 of 44 _'
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[210 |
93. 3l 0= 45“@Fﬁ tan0 + cotd %1 9N 8
w 19 B) -
J3
() 2 (D) %
If 0 = 45° then the value of tan0 + cot0 is
A) 1 .
) (B) Y
. 2 (D) 1
2
94. IR A=60°7 ar _2tand  Hpga
) 1- tzsm:Z A
A) V3 (B) %W3
1 1
C —_ D —-—
(C) = (D) 7
If A =60° then the value of -ﬁn{‘-— 1S
l-tan“ A
A) V3 B) -3
1 1
C) AD D - _L
(C) > (D) = .
p = 3’\;\ Q
95, IﬁtanO:%ﬁ?ﬁcosG'ﬂﬂﬂﬂ% “% S . e
@ 2 B 3§ <way 18
- L%
(C) 1—53- D), 13 VO
[A/SS/11045
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os 0 1s
If tan9=% then the value of €
B =
S 13
(A) 15
12
13 (D) T3
o =i 13
(C) 5
cos49° tan70° _
B0 sind1° . cot20°
FSki=1
B =1 B) O
C). 1 (D) 2
97. 3Ife tan35° xtan55° = sin A _bpf dt A =1 HH %
(A) 35° (B) 55°
(C) 90° (D) 45°
If tan35° xtan$5° = sin A then the value of A is
(A) 387 (B) &5*
(S 90° (D)  45°
a8. ?de sin0=PET\IFﬁ sec 0 =
(A)  1+P? (B) 1
V1- p?
© == (D) L
vi-P? 1+ P2
A/SS/11045 Page 36 =g
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—

4

(210

If sin © = Pthen sec g =

@) P2 " 2

V1-p2
(C) £ D 1
¥1-P* " J1+ P2
99.  (1+cot?0)(1-cos?0)=
[A] Sin2 0 (B) tan2 0
(C)  cos?9

(D)  none of these

100. ﬁﬁ(?sinsoﬂ,oman(0,7sin3001%ﬁaﬁaﬁ%

(A) 25 (B) 49
0 =k, i
(€) ¥ D) =

The distance between the points ( 7 sin 30°, 0 ) and

(0, 7 sin 30°) is fdere §1¥d e sife yerat siifdsfaaes
; TS Uz, AT QUE, 3fie-aht,

UISIhd, siied, Ale ee, dc- 31 3iiT

(A) 25 (B) 49 Tfeese adten nea ua 3nfe & Be...

( BiharboardQuestionpaper.com p
i 1 -
C —= D = *
© - D) = 3
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